
0°and 240°

3cosx+
sinx

(

)max=

2,
w
he
n
x
=

30
0°

3si
n x
− cos

x =

3cos
x
+

sin
x
=

3cos x −
sin x

(

)
min=

cosx+
3sinx=1

whenx=

18
0°

an
d
30

0°

cos
x
+

cos
x +

sin
x

(

) max
=

2sin(x−
α
);α

=
45°

cos x −
3 sin x

(

)
min=

2,whenx=
330°

60
°a
nd

18
0°

3si
n x
− 4co

s x
=

5cos(x+
α
);α

=
tan

−
1 43

−
si
n
x
=
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2, when x =
30°

−2,whenx=
210°

0°
an

d
12

0°

sin
x −

3co
s x
=

2sin(x−
α
);α

=
30°

2cos(x+α); α=45°

5cos(x−α);α=tan
−14

3

co
s
x
+

3s
in

x
=
−
1

w
he
n
x
=

2co
s(x
−α

);α
=30°2cos(x+

α

−2,w
hen

x=
225
°

3co
s x
+ sin

x

(

) min
=

2,
w
hen

x
=

45°

3sin x + 4cos x = 4c
os

x
−

3
si
n
x
=

3co
s x
− 4si

n x
=

3cos
x
+

4sin
x=

3
si
n
x
=
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60°and 180°

cosx−
3sinx

(

)max=

−
2,

w
he
n
x
=

12
0°

cos
x −

sin
x =

cos
x
+

sin
x
=

sin x +
3cos x =

si
n
x
−

co
s
x
=

2si
n(x
+α

);α
=60°2sin(x−

α
)

2co
s(x
−α

);α
=60°

cos
x −

3si
n x
= −

1

wh
en

x =

5cos(x−
α
);α

=
tan

−
1 34

5sin(x−α); α=tan −14
3

5sin(x+α);α=tan
−14

3

co
s
x
−

3s
in

x
=

1

w
he
n
x
=

−2,
wh

en
x=

150
°

0°an
d 240

°
3cos

x
−

sin
x

(
)m

ax =

cosx+sinx

(

)min=
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